
19” Racking System - Freestanding/Wall Mountable 

Box Contents
1 x Base plate

1 x Top cover (with fan holes)

1 x Front frame

1 x Rear frame (with wall mount holes)

4 x Mounting strips

2 x Locking side panels

1 x Locking rear panel 

1 x Assembly hardware pack

STEP 1
Lay out base onto a flat surface and

place the front upright frame into the

base. Secure using the corner holes

with M6 x 25mm bolts and hex nuts. 

STEP 2
Place rear upright framing into the base.

Secure using M6 x 12mm bolts and

nuts. 

STEP 3
Fit the top cover to the rack and secure

to the front and rear frames. 

Use M6 x 25mm bolts at front and 

M6 x 12mm bolts at rear. 

STEP 4
Fit the four mounting strips in each

corner and secure at top and bottom of

rack using M6 x 12mm bolts and nuts.

These pieces are punched with squares

to allow mounting of equipment with the

included captive nuts.

STEP 5
To fit door, locate the fixed peg in the

base and pull down the spring loaded

pin to fit it into the top cover. 

STEP 6
Fit locking side panels by pushing the

bottom locating pegs into the base first,

push forward and lock using the key at

the top. 

Fitting optional H 5296 castors.
(sold separately)

To fit castors to the assembled rack

frame, tip the rack onto its side and

screw castors into the castor mounts

using M6 x 12mm bolts. 

19” Racking System - Freestanding/Wall Mountable Distributed in Australia by Altronic Distributors Pty. Ltd.
www.altronics.com.au  1300 780 999

FRONT REAR

Models Available:

HD5506 6U 450mm Deep

HD5509 9U 450mm Deep

HD5512 12U 450mm Deep

HD5515 15U 450mm Deep

HD5518 18U 450mm Deep

HD5522 22U 450mm Deep

Assembly Instructions
During this process, it is advisable not to

fully tighten all bolts until the rack is

completely assembled. Once assembly

is complete, ensure top and bottom

panels are aligned correctly and tighten

all bolts securely.

M6x12

Pull Down

M6x25
M6x12

M6x12

M6x25


